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EE 2 x w (mm) 2210 x 70
HigR~F H B X w (mm) 280 x 70
ZEiH @ X w (mm) 280 x 30
THERFMNSE | &/ /&K h1s (mm) 700/1160
BEXREIESE hi3 (mm) 80
BRERE l; (mm) 1530
421 |{BEREEE b; (mm) 540
422 |\EXR~ s/e/l(mm) |47/160/1150
425 |BEX4SHE bs (mm) 540
434 ﬁ;?;éo(%log;ﬂm) Ast (mm) 2000
435 |SR/NEEREE Wa (mm) 1330
5.10 |{TBRE ey / = km/h 46/4.8
5.20 |IBFAEE iy [ 2 m/s 0.020/0.025
5.30 |FRREE e/ =E m/s 0.05/0.04
5.80 |RAICHKAEESN | iwdE/=H % 4°/16°
6.10 |ERENEHINZE S2 60 min kw 0.65
6.20 |[1IRAEJHINES310% kw 0.50
640 |REMER FEEST=E K5 V/Ah 24 /20
6.50 |REMEE (+/-5%) kg 4.6
340 (iost N 120535 8 (4 <70




